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IS IE2E=PN EFREE e il 1080 ENF R EnF
NE % 900 593 516 547.3
ERZEMfFEZEX I Bil 1150 821 604 661
ELX AX AX il 850 628.1 490.3 528.9
AX % 550 409.3 364.9 384.1
&% =] il 1200 1012.8 689.7 7435
=] % 350 319.3 250.2 266.3
#EE Bl 1200 1012.8 689.7 7435
#ZEE % 350 319.3 250.2 266.3
-1 il 1200 1012.8 689.7 7435
#®Zx % 350 319.3 250.2 266.3
BER e % 350 249.4 221.8 234.1
#TEE % 350 249.4 221.8 234.1
&% % 350 249.4 221.8 234.1
BE HREBEERL il 1100 797.2 636.2 688.3
HREBEER % 1200 ERF ERR ERF
FZ] = a Al 1400 919.0 798.6 848.5
= b Bil 1450 ERF ERR ERF
=3 % 1000 ERF ERR ERF
B il 1500 1072.6 784.4 870.8
8F % 900 ERF ERR ERF
S Al 1200 846.6 702.4 769.2
4 % 800 ERF ERR ERF
BRRERZE a Bil 1500 1148.2 893.8 974.0
BREERE b Al 1000 ERF ERR ERF
BEREERHS % 900 ERE EAE ERE
[V a Al 1200 795.9 678.3 7235
[VEE b Al 1200 ERE ENE ERE
Wi % 900 785.2 666.2 722.3
T I/ EXREFT a Al 1200 783.6 620.1 666.1
I /EXREFT b Al 1200 758.5 606.5 642.0
I /E5EFT % 1600 1225.0 1131.4 1169.8
I /HBEERT a Bil 1200 994.7 629.6 696.8
I /HEEERT b Bil 1200 743.1 606.4 664.8
T 5IEE$RT % 1600 ERE ENE ERE
I /#ET a Bil 1200 775.2 648.0 691.2
I /#ET b Bil 1200 741.1 650.3 686.0
I /#ET % 1600 1235.2 1105.4 1167.7
I/ %5&%T a Al 1200 816.7 637.4 696.1
I/ %5&%T b Al 1200 ERE ENE ERE
T, EfiT % 1600 ENK ENE FENE
I /ILRAILE a Al 1200 802.0 626.8 673.6
T,/ BIEE b Al 1200 ELE T E3AES
I /GREE % 1600 ELE T EnFE
;AT HA IR AT LEE il 1400 906.3 707.8 792.7
IR AT LEF % 900 ELE T EnFE
A THAY Bil 1600 1195.2 906.4 1004.9
A THAY % 1600 1232.5 1033.4 1131.5
°E 12T a Al 1350 799.1 540.5 677.9
ARTHAVT b Al 1100 680.7 528.9 579.5
ARTHAVT % 1500 1164.9 933.9 1039.6
= E Bl 1600 1272.6 1033.6 1111.5
5 il 1050 7675 595.0 659.9
_ ai % 950 ELE T EnFE
ES ES Bl 1350 1030.2 823.1 893.5
= % 1280 EAK T ELE
ESEED il 1350 959.4 793.7 863.3
ESEED % 1280 ELE T EnFE
=it =frxdk a Bil 1000 813.0 613.6 670.4
=frxdk b Bil 1000 763.4 549.0 617.9
=1tk a % 800 ERE T EnFE
=ik b % 900 ELE T EnFE
EDAPN R SEEFIFE X% -1} 1300 927.30 813.50 861.1
SERE FEER Bl 1300]  1012.00 818.50 884.3
BRTHFAY X% Al 1300 ERE T EnFE
BRETHFA FEER Al 1300 ELE T EnFE
INGEES AX -1} 1250 979.30 801.80 863.2
% -1} 1000 807.50 642.80 687.2
Bx Bl 1500]  1219.50 882.50 989.5
ERBE A HRBEER A Bil 1000 754.00 621.30 663.9
ERBE A HRABEER B Bil 1000 754.00 621.30 663.9
i EE Bil 1000 809.60 636.40 688.8
B[R Bl 2500]  2019.20]  1628.50 1737.1
BT BEF Bil 2250[ 1786.10[ 1411.80 1526.0
WMELE Bl 2250[  1729.10[ 1416.50 1515.1
-0V T47 & Bl 2250]  1754.10]  1355.50 1478.6
ekt SE AR Bil 2250[  1630.80[ 1412.70 1494.1
EHET Al 2250]  1638.30]  1377.50 1469.9
EXGFRRE E Bil 1500]  1329.80]  1095.30 1164.7
R EiE Bl 2300  1766.00]  1259.80 1430.4
Bz 2 Eifiﬂt%ﬂi?iﬁr Bil 1800]  1316.30]  1175.40 1226.2
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Ex Bl 2000]  1579.00]  1329.00 1420.4
EEXERF il 2000( 1513.50]  1223.00 1339.6
XHR—iE il 1000 821.00 660.00 711.8
HR—E il 1000 854.00 649.00 723.0
BHX BE 2R hERE =& Rl 1500 ERF LT ERF
FRATERT *E Al 1500 1011 941 968
FRAPERE XA Al 1500 1079 892 953
R hEHRE %] Al 1500 1155 806 907
FRAPERE HER % 1300 921 775 835
FRADERE XA Al 1500 1079 892 953
R NEXRE R Al 1500 1155 806 907
FRADERE e Al 1500]  JEAFE AR ENE
FRANELRT *E il 1500 1011 941 968
FRADELRE HaR % 1300 921 775 835
E i E 2 ithis il 1500 1041 893 956
[ ithis % 900 750 670 698
T - AT LT Bil 1500 1003 756 835
(Rt AT LT % 1200 874 638 733
BEREFIERT Bil 1500 989 774 848
BEREFIERT % 1500 1134 952 1015
BE-HhEET Bil 1500 1064 864 915
EE-RHBET % 1200 931 794 844
YE-EdmlkE Bil 1500 1016 728 835
ME -k % 1300 934 651 793
I YR Bil 1500 912 504 693
It Y % 1300 939 535 748
= E Bl 1600 1269 1089 1143
E % 670 559 499 523
5k il 1050 738 623 663
5k % 1050 655 607 636
[IIETPN BE R HINFEE Al 1000 ERE ENE ERE
=R WINEE % 1000]  JERFE FENR| /R
FRAEER Al 1000 697.0 611.0 649.4
FRABEER % 800 ERE ENE ERE
E Bl 1200 ERE ENE ERE
E % 800 ERE ENE ERE
E Bl 1000 720.0 598.0 656.2
E % 800 ERE ENE ERE
E Bl 1200 765.0 634.0 682.8
ERHEHT % 1100 ELE T ENE
Sk =k Al I EEEIE EIE
ER O E S % 1200 ELE T ELE
EomRE X h Bil 1200 817.8 678.8 726.6
EHT % 1100 ELE T ELE
i B MR E il 1100 730.0 498.0 606.4
g B Wi % 1200 ELE T ELE
hiEEYHEE T4 Bil 1100 842.5 629.0 686.7
RERSF il 1100 760.0 606.5 681.7
BiEf % 900 ELE T ELE
g &S RT L Al 1000 711.5 633.0 655.9
g &S R T L % 800 ELE T ELE
it S AT L BILEE il 1000 708.5 641.5 655.1
I TKRIRIET Bil 1300 883.7 595.9 695.9
[T ARBET % 1100] JEAFE FERK| FRR
S H1ES Al 1300 834.8 612.4 708.1
i b % 1100 ELE T ERE
HHT Bil 1300 892.3 687.1 755.8
[ % 1100 ELE T ELE
BERETT Bil 1300 857.1 620.0 7133
BEREFT % 1100 ELE T ELE
O VEL—45ET Bil 1300 977.6 717.9 781.1
O F1—4ET % 1100 ELE T ELE
AHRO=—HRT Al 1300 865.2 667.6 729.9
AHRO=—HRT % 1100 ELE T ELE
Seimt R T Bil 1300 781.3 609.1 670.9
Fimt IR T % 1100 ERE T ERE
= E % 2300 ERE T ERE
E# il 1200 ERE T ERE
E# % 1200 ELE T ELE
FMX AX AX f:1i} 950 841.7 609.0 665.2
AX % 650 547.4 451.8 478.7
& It R & il 1150 860.9 702.9 748.1
weke Bil 1150 886.6 706.2 753.6
5 PR AHEEH Bil 1250 881.4 766.6 803.1
FRAMEEH % 900 ERE EAE ERE
2R RERS Bl 1150 ERE EAE ERE
2R RERS % 900 ERE EAE ERE
ERBRET Ail 1250 824.6 742.2 778.5
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EHHD DY % 900] FEAF T 728.0
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XA 1 N T EIAES
Fh SRR o 1150 SFAF T I TS
Et GNRE % oy demy Aes) Ter
PR HHNEE i 1250 8/2\3-6 3F’L§§ A%
it BRI % 1000 3“% =640 7838
BRI R & 1250 8/2\% FaE|  FAE
FRADEX R 3 900]  JEA S 10 9443
2 DERIE ﬁﬁ 1500 1118.2 5101 0414
B % 1650 1357.5 3 3663
IE ﬁgg ﬁﬁ 1300 1037.8 31:234 879.3
12 i % 1400 1118.8 Has 5037
i 1300 982.0 :
12 i il T360.4 10151 1110.2
B % % 1600 S =517 796 8
B (L B | 1200 826] 70174 70919
Wik 100, 11826 1014 10919
B LI 200 13740 10858 11823
B Ay L B e B R
Ry Bl 1800 958 960.8] _ 1055.3
B WERE 1800, 11928, 9608 1065
B OWEER i 1190 73 >0 5023 6459
= B 2T LT % 1030 746-9 2054 7428
WS RATLT [ 1190 8486. 6593 592.0
FEa % 1030 806.1 : =
2 ! 8503  623.1 68
FEE S il 1190 ' 6755 720.6
ey P2 782.2 :
MELFE % 1030 646.8 7112
WMELE i 1190 885.3 o318 6444
EFERATLL % 1030 888.3 2978 666.9
BEFEHRATLT il 1190 760.3 3 6475
K- AT p 1030 692.8 610.
[KIRIE - 7 % 4848 2270 452.8
KIRHE - T AT il 725 5502 4338 494.3
. GES L % 830 : 260 461.0
i = =5 == 725 533.8 426.
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2 ERTE T p 830 528.6 :
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| SEE A - BT A 725 590] 3636|4388
TGS R
*&m amrvk Al 725 250.9 239.9 4782
B2 - & 830 2 =5 3048
b+ B 1050 =005 1676 528.4
E E T 2l 0 526.6 459.9 488.5
RE W g1 ool seel aseel dmas
Rfg B Al ' S AT
(R2  RERMELE % 850] A% ausﬁﬁ ] a=
1 Bfifie e 900 656.9 516.
R tBE T HII 6379 4551 530.1
1%15_/EE%‘}$/1§ ﬁﬁ 900 /\'i 3'5/1-}% 3EIA\§
ﬁ':ﬁ_/ﬁ#ﬁa; % 650 3E1§5 = 5970 7685
1%15_/1"5#‘}%/1; - Bl 1250 885. 699.2 793.4
i E SRR e 50 964.1 -
= a3 ek o; B 12 2 726 6 784.9
= u*/iﬂ%'ﬁ:ﬁ B 1250 896. 72 2937
Edh B AR Bl 1250 899.5 5T 756.0
Edn Bk 1R % 1050 843.2 -

KEGLHFE ERECRICHEZEHL TV HLDI(E,

FARIELERZER

YRIBICELTVET,

He



